## **Bid Proof**

**Bid Number:** 10011940-11-C

**Bid Title:** Powdered Activated Carbon for Water Treatment

	ALT1 - MWV SPECIALTY CHEMICALS (MEAD) Vendor ID: ALT1-TEMP-MW	WESTVACO)		Days AR	O: 5-10 WO enew Pct. (%): 15	RK	Disc Terms - Days: Disc Pct. (%):	0.00	Addendum: N	I/A .75
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Powdered Activated Carbon (PAC) Otay Plant			MWV NUCHAR DW		362,392 LB	\$0.81	\$293,537.52	\$25,684.53	\$319,222.05
	Response(s) to Other Requirements  ► Manufacturer: MWV Specialty Chemicals									
	► List any additional charges by type and cost: N/A									
	► Nearest warehouse: Parker AZ									

Subtotals for ALT1 - MWV SPECIALTY CHEMICALS (MEADWESTVACO): \$293,537.52 \$25,684.53 \$319,222.05

Miscellaneous Charges: \$0.00

Freight: \$0.00

Extraordinary Labor - 0 hours @ \$0.00/hour: \$0.00

Grand Total for ALT1 - MWV SPECIALTY CHEMICALS (MEADWESTVACO): \$319,222.05

Final Price (w/ Discount): \$319,222.05

<b>&gt;&gt;&gt;</b>	CALGON CARBON CORP				Days ARO:	5-7		Disc Terms - Days:	30	Addendum:	N/A
	Vendor ID: TEMP-CALGON				Opt To Renew Pct. (%):	NN		Disc Pct. (%):	0.00	Tax Rate Pct (%):	8.75
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Nu	mber	Quantity	Unit Price	Extension	Тах	Final
1	Powdered Activated Carbon (PAC) Otay Plant			CALGON CAR	RBON		362,392 LB	\$0.672	\$243,527.42	\$21,308.65	\$264,836.07
	Response(s) to Other Requirements  ▶ Manufacturer: Calgon Carbon Corporation										
	► List any additional charges by type and cost:	\$100.00/hr demurrage charge	after 4 hrs.								
	▶ Nearest warehouse: Ontario, CA										
						Subtotal	s for CALGON C	ARBON CORP:	\$243,527.42	\$21,308.65	\$264,836.07
									Miscellaneou	us Charges:	\$0.00
										Freight:	\$0.00
								Extraordin	ary Labor - 0 hours @ :	\$0.00/hour:	\$0.00
											,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
								Grand Total	for CALGON CARBO	ON CORP:	\$264,836.07
								i	Final Price (w/ Di	scount):	\$264,836.07
<b>&gt;&gt;&gt;</b>	JACOBI CARBONS, INC.				Days ARO:	10		Disc Terms - Days:	30	Addendum:	N/A
	Vendor ID: TEMP-JACOBI				Opt To Renew Pct. (%):	2		Disc Pct. (%):	0.00	Tax Rate Pct (%):	8.75
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Nu	mber	Quantity	Unit Price	Extension	Тах	Final
1	Powdered Activated Carbon (PAC) Otay Plant			JACOBI CARE	BONS		362,392 LB	\$0.628	\$227,582.18	\$19,913.44	\$247,495.62
	Response(s) to Other Requirements  ▶ Manufacturer: JACOBI CARBONS										
	► List any additional charges by type and cost:	0/NONE									
	▶ Nearest warehouse: BRANDON, SD										

JACOBI CARBONS, INC. 10 Disc Terms - Days: 30 N/A Days ARO: Addendum: TEMP-JACOBI 0.00 Tax Rate Pct (%): 8.75 Vendor ID: Opt To Renew Pct. (%): 2 Disc Pct. (%): Subtotals for JACOBI CARBONS, INC.: \$227,582.18 \$19.913.44 \$247,495.62 Miscellaneous Charges: \$0.00 Freight: \$0.00 Extraordinary Labor - 0 hours @ \$0.00/hour: \$0.00 **Grand Total for JACOBI CARBONS, INC.:** \$247,495.62 Final Price (w/ Discount): \$247,495.62 MWV SPECIALTY CHEMICALS (MEADWESTVACO) 5-10 WORK 30 N/A Days ARO: Disc Terms - Days: Addendum: TEMP-MWV SPE 0.00 Tax Rate Pct (%): 8.75 Vendor ID: Opt To Renew Pct. (%): 15 Disc Pct. (%): Item Description Stock Number NB NR Manufacturer **Unit Price** Tax Final Item No. **Product Number** Quantity Extension Powdered Activated Carbon (PAC) MWV AQUA NUCHAR 362,392 LB \$0.89 \$322,528.88 \$28,221.28 \$350,750.16 Otay Plant Response(s) to Other Requirements ▶ Manufacturer: MWV SPECIALTY CHEMICALS ▶ List any additional charges by type and cost: N/A

▶ Nearest warehouse: PARKER AZ

Subtotals for MWV SPECIALTY CHEMICALS (MEADWESTVACO): \$322,528.88

Miscellaneous Charges: \$0.00

\$28,221.28

Freight: \$0.00

\$350,750.16

Extraordinary Labor - 0 hours @ \$0.00/hour: \$0.00

Grand Total for MWV SPECIALTY CHEMICALS (MEADWESTVACO): \$350,750.16

Final Price (w/ Discount): \$350,750.16

<b>&gt;&gt;&gt;</b>	NORIT AMERICAS INC.				Days ARO:	7-10 MIN	NIMUM	Disc Terms - Days	:: 30	Addendum:	N/A	
	Vendor ID: TEMP-NORIT A				Opt To Renew Pct. (%):	4		Disc Pct. (%):	0.00	Tax Rate Pct (%):	8.75	
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product N	umber	Quantity	Unit Price	Extension	Tax	Final	
1	Powdered Activated Carbon (PAC) Otay Plant			NORIT AMER	RICAS		362,392 LB	\$0.66	\$239,178.72	\$20,928.14	\$260,106.86	
	Response(s) to Other Requirements  ▶ Manufacturer: NORIT AMERICAS INC.											
	► List any additional charges by type and cost: NONE											
	► Nearest warehouse: MARSHALL, TX											
						Subtota	als for NORIT AN	MERICAS INC.:	\$239,178.72	\$20,928.14	\$260,106.86	
									Miscellaneo	us Charges:	\$0.00	
										Freight:	\$0.00	
								Extraordi	nary Labor - 0 hours @	\$0.00/hour:	\$0.00	
								Grand Tota	al for NORIT AMERI	CAS INC.:	\$260,106.86	
									Final Price (w/ Di	iscount):	\$260,106.86	
<b>&gt;&gt;&gt;</b>	PROMINENT SYSTEMS INC.				Days ARO:	10		Disc Terms - Days	s: 30	Addendum:	N/A	
	Vendor ID: TEMP-PROMINE				Opt To Renew Pct. (%):	3		Disc Pct. (%):	0.00	Tax Rate Pct (%):	8.75	
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product N	ımber	Quantity	Unit Price	Extension	Tax	Final	
1	Powdered Activated Carbon (PAC) Otay Plant			PROMINENT SYSTEMS			362,392 LB	\$0.668	\$242,077.86	\$21,181.81	\$263,259.67	
	Response(s) to Other Requirements  ▶ Manufacturer: PROMINENT SYSTEMS INC.											
	▶ List any additional charges by type and cost: N/A											
	▶ Nearest warehouse: CITY OF INDUSTRY, CA 91746											

<b>&gt;&gt;&gt;</b>	PROMIN	ENT SYSTEMS INC. TEMP-PROMINE			-	ys ARO: t To Renew Pct. (%	10 ): 3		Disc Terms - Days	30 0.00	Addendum: Tax Rate Pct (%):	N/A : 8.75
					<u> </u>			or PROMINENT		\$242,077.86	\$21,181.81	\$263,259.67
										Miscellaneo	us Charges:	\$0.00
											Freight:	\$0.00
									Extraordir	nary Labor - 0 hours @	\$0.00/hour:	\$0.00
									Grand Total for	PROMINENT SYSTI	EMS INC.:	\$263,259.67
										Final Price (w/ D	iscount):	\$263,259.67
<b>&gt;&gt;&gt;</b>	RED RIV	ER ENVIRONMENTAL PRODUCTS, LLC TEMP-RED RIV				ys ARO: t To Renew Pct. (%	15 n: 15		Disc Terms - Days	30 0.00	Addendum: Tax Rate Pct (%):	N/A : 8.75
Item No			tock Number	NB NR	Manufacturer	Product I		Quantity	Unit Price	Extension	Tax	Final
1	Powdered Otay Plant	Activated Carbon (PAC)			RED RIVER ENVIRONMENTAI PRODUCTS, LLC			362,392 LB	\$0.81	\$293,537.52	\$25,684.53	\$319,222.05
	·	(s) to Other Requirements facturer: RED RIVER ENVIRONMENTAL PRODUCTS,	LLC									
	▶ List ar	ny additional charges by type and cost: SEE VENDOR N	OTES									
	▶ Neare	st warehouse: COUSHATTA, LA										
					Subto	tals for RED R	IVER ENVI	RONMENTAL PI	RODUCTS, LLC:	\$293,537.52	\$25,684.53	\$319,222.05

Miscellaneous Charges: \$0.00

Freight: \$0.00

Extraordinary Labor - 0 hours @ \$0.00/hour: \$0.00

Grand Total for RED RIVER ENVIRONMENTAL PRODUCTS, LLC: \$319,222.05

Final Price (w/ Discount): \$319,222.05

<b>&gt;&gt;&gt;</b>	SNR TECHNOLOGIES				Days ARO: 10		Disc Terms - Days	s: 30	Addendum:	N/A
	Vendor ID: TEMP-SNR TEC				Opt To Renew Pct. (%): NN		Disc Pct. (%):	0.00	Tax Rate Pct (%):	8.75
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Powdered Activated Carbon (PAC) Otay Plant			PROMINENT SYSTEMS		362,392 LB	\$0.592	\$214,536.06	\$18,771.91	\$233,307.97
	Response(s) to Other Requirements									
	► Manufacturer: PROMINENT SYSTEMS									
	▶ List any additional charges by type and cost: N/A									
	► Nearest warehouse: CITY OF INDUSTRY, CA									
						Subtotals for SNR TE	CHNOLOGIES:	\$214,536.06	\$18,771.91	\$233,307.97
								Miscellaneo	us Charges:	\$0.00
									Freight:	\$0.00
							Extraordi	nary Labor - 0 hours @	-	\$0.00
							Extraordi	nary Labor - O nours @	Ψ0.00	
							Grand Total for SNR TECHNOLOGIES:		OLOGIES:	\$233,307.97
								Final Price (w/ Di	iscount):	\$233,307.97
<b>&gt;&gt;&gt;</b>	STANDARD PURIFICATION				Days ARO: 10		Disc Terms - Days	s: 30	Addendum:	N/A
	Vendor ID: TEMP-STANDAR				Opt To Renew Pct. (%): 5		Disc Pct. (%):	0.00	Tax Rate Pct (%):	8.75
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Powdered Activated Carbon (PAC) Otay Plant			STANDARD PURIFICATION	DN	362,392 LB	\$0.663	\$240,265.90	\$21,023.27	\$261,289.17
	Response(s) to Other Requirements  ► Manufacturer: STANDARD PURIFICATION									
	► List any additional charges by type and cost: 0.00									
	▶ Nearest warehouse: FLORIDA									

 ▶▶▶
 STANDARD PURIFICATION
 Days ARO:
 10
 Disc Terms - Days:
 30
 Addendum:
 N/A

 Vendor ID:
 TEMP-STANDAR
 Opt To Renew Pct. (%):
 5
 Disc Pct. (%):
 0.00
 Tax Rate Pct (%):
 8.75

Subtotals for STANDARD PURIFICATION: \$240,265.90 \$21,023.27 \$261,289.17

Miscellaneous Charges: \$0.00

Freight: \$0.00

Extraordinary Labor - 0 hours @ \$0.00/hour: \$0.00

Grand Total for STANDARD PURIFICATION: \$261,289.17

Final Price (w/ Discount): \$261,289.17